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Jakotaulut

9 poytaa, 17 paria, 1 lepopari. Jakoméaara: 26. Kesk
Keskiméaarinen tasoitus: 9,0.

Sija Pari Pisteet % Nimi

231,8* 63,7 Merja Molsa - Reijo Ha
218,5* 60,0 Arvo Priimagi - Patrik
210,4 * 57,8 Stig-Olof Andersson -
201,9 * 55,5 Ulf Helenius - Outi Yr
200,2 55,0 Kari Launis - Markku J

arwNP
= =
HroopR

6 9 199,1* 54,7 Varpu Honkakoski - Juk
7 4 189,6* 52,1 Timo Makela - Eino Nyg
8 7 185,6* 51,0 Johanna Helenius - Las
9 5 179,8* 49,4 Anne Vesanen - Juho N&
10 12 175,6* 48,2 Janne Holmgvist - Kimm

11 10 174,2* 47,8 Henrik Laaksonen - Lei
12 17 173,6 47,7 Antti Alen - Veli-Pekk
13 13 169,1* 46,4 Ensio Lehtinen - Nikol
14 14 160,0 44,0 Jarmo Laakso - Risto N
15 2 146,4* 40,2 Tuure Salminen - Jorma

16 3 141,5* 38,9 Taisto Louhikoski - An
17 16 140,8 38,7 Riitta-Liisa Makela -

Jako: 1 Jak

Pari Sit LK Tulos Pisteet Pa
210 4Sx S =H8 500 14,0 00 5
56 2S S+3H8 200 10,0 40 14
7 43S S+2HS8 200 10,0 40 17
1713 3S S+2H8 200 10,0 40 3
15 8 2S S+2H8 170 6,0 80 2
14 1 3C S+2H2 150 4,010,0 16
393H E-2CA 100 20120 7

1611 4S S-1H8 -50 0,014,0 15
12 -- Lepokierros 7,2 12
Jako: 3 Jak

Pari Sit LK Tulos Pisteet Pa
915 4Sx W-4H9 1100 14000 6
410 4H S+1DK 450 11,0 3,0 8
8 5 4H S+1DA 450 11,0 3,0 14
1612 3S W-4H9 400 8060 3
6 7 3H S+2DA 200 5090 9
17 1 3H S+2C4 200 5090 17
311 1S W-1H8 100 1,013,0 16
14 2 4D W-1H3 100 10130 4
13 -- Lepokierros 7,1 13

Jako: 5 Jak

Pari Sit LK Tulos Pisteet Pa
412 1IN N+2D3 150 12,0 20 14
7 8 IN N+2D3 150 12,020 4
1316 IN N+2D10 150 12,0 2,0 13
17 2 IN S+1D2 120 8,0 6,0 17
511 3D E-1SK 50 6,080 5

14 3 3N S-1H2 -100 4,010,0 9
9 6 2N N-2D3 -200 1,013,0 10
1015 1IN S-2S3 -200 10130 7
-1 Lepokierros 6,8 --
Jako: 7 Jak

Pari Sit LK Tulos Pisteet Pa
116 2S S =H3 110 11,0 3,0 10
513 2S S =H5 110 11,0 3,0 15
612 2S S =C7 110 11,0 3,0 8
89 1S S+1CA 110 11,030 3
14 4 IN S =87 90 5090 1
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i- 182,0. Lepokierros (*) antaa pelattu prosentti.

Tas%  Tas Kerho

artola 17,0 12,4 20,6 Salon BK

Eriksson 6,0 -22,0 Salon BK - Turun BK
Harry Vuorinen 15,0 6,8 6,8 Salon BK

ttiranta 17,0 15,0 25,3 Salon BK

uva 10,7 13,0 10,2 Salon BK

ka Pettersson 6,8 7,0 -7,8 Salon BK
ren 5,6 -22,7 Salon BK

se Saloranta 11,0 15,0 14,4 Salon BK
appa 13,011,0 10,8 Salon BK

o0 Kanerva 6,0 6,2 -10,7 Salon BK

f Mickelsson 6,0 -11,1 Salon BK
a Lukka 6,1 6,3 -10,4 Salon BK
ai Kaplitsnoi 2,9 6,3 -16,2 Salon BK
oki 17,0 -2,0 Salon BK

Vapaa 9,0 8,6 -0,9 Salon BK

tti Voitto 14,2 12,6 15,9 Salon BK
Raija Berglund 1,0 17,0 -0,2 Salon BK

o: 2

ri Sit LK Tulos Pisteet

6 3N W-2D10 100 14,0 0,0
1 3N W-1DK 50 12,0 2,0

13 2S E+1 D7 -140 10,0 4,0
9 3N W =DK -400 8,0 6,0
10 4S E =DK -420 5,0 9,0
11 4S E =C4 -420 5,0 9,0
4 3N W+1DK -430 2,012,0
8 3N W+2D8 -460 0,0 14,0

- Lepokierros 7,2

o: 4

ri Sit LK Tulos Pisteet

7 3D W+1CA -130 12,0 2,0
53D W+1CA -130 12,0 2,0
2 3D W+1CK -130 12,0 2,0
11 3D W+2CA -150 6,0 8,0
15 3D W+2CK -150 6,0 8,0
13D W+2CK -150 6,0 8,0
12 3S E+1C5 -170 2,012,0
10 3N W =CA -600 0,0 14,0
- Lepokierros 7,1

0. 6

ri Sit LK Tulos Pisteet

33N S =D3 400 14,0 0,0
12 2D E-2S6 200 12,0 2,0
16 1IN S+1D2 120 9,0 5,0
22N S =D10 120 9,0 5,0

11 3N S-1H6 -50 4,010,0
6 3N S-1D6 -50 4,010,0
15 3N S-1D3 -50 4,010,0
8 3Sx N-2D5 -300 0,0 14,0
1 Lepokierros 6,8

o 8

ri Sit LK Tulos Pisteet
72H S =H6 110 14,0 0,0
11 4C W-1HJ 50 12,0 2,0

92D E =C7 -90 10,0 4,0
17 3D E =C7 -110 8,0 6,0
16 2D E+2C8 -130 6,0 8,0
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1511 IN N =H6
317 IN S-1C6
10 7 4S5 S-2CA

90 5090 5
-100 2,012,0 14
-200 0,0140 6

-2 Lepokierros 57 -
Jako: 9 Jak
Pari Sit LK Tulos Pisteet Pa

713 3Sx S =DJ
14 535S S =H2
11 8 5D W-1S9
16 2 5D W-1S9
910 4Sx S-1DK
417 4D W =S89
613D W+1S89
1512 3N E+1SA

530 14,0 00 6
140 12020 9
100 9,0 50 16
100 9050 4
-100 6,0 80 7
-130 3,011,0 15
-130 3,011,0 11
-630 0,014,0 14

-3 Lepokierros 48 --
Jako: 11 Jak
Pari Sit LK Tulos Pisteet Pa

614 4H W-1S7
72 3N W-1CQ
12 9 3N W-1CQ
16 3 3H W-1CQ
1011 3S E+1C5
8 14S E =DQ
1513 4S E+1CA
17 5 4S E+1DQ

50 11,0 3,0 17
50 11,0 3,0 16
50 11,030 6
50 11,030 8
-170 6,0 80 7
-420 4,010,0 12
-450 1,013,0 15
-450 1,013,0 10

-4 Lepokierros 82 --
Jako: 13 Jak
Pari Sit LK Tulos Pisteet Pa

151 4H S =SA
924S W-2S2
1112 48 W-2CA
714 3S W =CA
16 4 3S W =D2
8 34H S-3SA
1310 3D S-3SK
17 6 5D S-4SK

620 14,0 00 8

200 11,030 9
200 11,0 30 11
-140 7,0 7,0 13
-140 7,0 7,0 15
-300 3,0110 7
-300 3,011,0 16
-400 0,014,0 17

5-- Lepokierros 6,5 5
Jako: 15 Jak
Pari Sit LK Tulos Pisteet Pa

15 2 3N E-3H2

1213 2S5 N+1C10

111 2H W-2C6
17 7 3N W-2C6
944D W-1S3
10 3 3D W =H8
14 8 2D W +1 H8
16 5 IN W+1H8

150 14,0 0,0 10
140 12,0 20 14
100 9,0 50 17
100 9,0 50 12
50 6,080 9
-110 3,011,0 15
-110 3,0110 1
-120 0,014,0 16

6 -- Lepokierros 7,8 6
Jako: 17 Jak
Pari Sit LK Tulos Pisteet Pa

10 5 3H S+1CA
131 3H S =DA
212 5C W-2S5
16 6 4Cx W-1H9
11 4 4C W-1H9
17 8 4Hx S-1CA
315 3C W =H9
14 9 3C W =H9

170 140 0,0 17
140 12,0 2,0 10
100 9050 3
100 9,0 50 2
50 6,0 80 11
-100 4,010,0 13
-110 1,013,0 14
-110 1,013,0 16

-7 Lepokierros 6,6 --
Jako: 19 Jak
Pari Sit LK Tulos Pisteet Pa

716 4H S+28S2

12 5 4H S+2C10

1410 4H S+2DK

480 12,0 20 12
480 12,0 20 4
480 12,0 20 11
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13 2H E+3C7 -200 3,011,0
4 2H E+3C7 -200 3,011,0
12 3N E+1S4 -430 0,0 14,0
2 Lepokierros 57

o: 10

ri Sit LK Tulos Pisteet
13S E-2C4 200 13,0 1,0
10 4S E-2CQ 200 13,0 1,0
2 3C N+1H10 130 10,0 4,0
17 3N N-1H10 -100 7,0 7,0
13 4C S-1H3 -100 7,0 7,0
12 2D W+1CA -110 4,010,0
8 3D E+1C5 -130 2,012,0
52S E+2C5 -170 0,014,0
3 Lepokierros 4.8

o: 12

ri Sit LK Tulos Pisteet
52S E-1S3 50 14,0 0,0
3 1IN S-1SQ -100 12,0 2,0
14 2S E =D2 -110 9,0 5,0
12S E=SA -110 9,0 5,0
2 2S E+1HA -140 5,0 9,0
9 2S E+1S3 -140 5,0 9,0
13 2S E+2HA -170 2,012,0
11 3N N-3S8 -300 0,0 14,0
4 Lepokierros 8,2

o: 14

ri Sit LK Tulos Pisteet
33H S =SK 140 14,0 0,0
235 E-2CJ 100 12,0 2,0
12 4S E-1H10 50 9,0 5,0
10 4S E-1HJ 50 9,0 5,0
12D W =SA -90 6,0 8,0
14 2C W +1H4 -110 4,010,0
42S E+1CJ -140 1,013,0
6 35S E =HJ -140 1,013,0

- Lepokierros 6,5

o: 16

ri Sit LK Tulos Pisteet

3 3N S+1H7 430 14,0 0,0
8 3N N =54 400 12,0 2,0
7 2N S+2H6 180 10,0 4,0
13 2N S+1H2 150 8,0 6,0
4 1IN N+1C3 120 50 9,0
2 1IN N+1C3 120 50 9,0
11 3N N-1D6 -50 2,012,0
52N N-2D4 -100 0,0 14,0
-- Lepokierros 7,8

o: 18

ri Sit LK Tulos Pisteet

8 4H W-1D2 50 14,0 0,0
54S S-1H3 -100 12,0 2,0
15 3D E+2C8 -150 10,0 4,0
12 3H W +1D2 -170 8,0 6,0
4 4H E =SA -420 6,0 8,0
14H E+1C8 -450 2,012,0
9 4H W +1D2 -450 2,012,0
6 4H W +1 D2 -450 2,012,0
7 Lepokierros 6,6

o0: 20

ri Sit LK Tulos Pisteet
51N S+2C8 150 14,0 0,0
15 1H N+1C10 110 10,0 4,0
6 2H N =D5 110 10,0 4,0
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1244 S+1DK 450 5090 17
415 4H S+1DK 450 5090 1
11 6 4H S+1S3 450 5090 7
17 9 4H S+1C10 450 5090 14
313 2H S+48S2 230 0,0140 3
-8 Lepokierros 93 --

Jako: 21 Jak

Pari Sit LK Tulos Pisteet Pa
1017 3Hx N +1 CK 930 14,000 4
816 3H S+1CA 170 11,0 3,0 10
155 2H N+2CK 170 11,030 2
1411 1S E-3D9 150 8060 8
12 7 IN N+1CK 120 6,0 8,0 14
136 IN N =S6 90 4,010,0 15

2 33C E=DA -110 1,013,0 13
41 3C W =DA -110 1,013,0 12
-9 Lepokierros 80 --
Jako: 23 Jak

Pari Sit LK Tulos Pisteet Pa
15 6 3C E+28S2 -150 14,0 0,0 1
17 3C E+3HA -170 12,0 2,0 15
523N W =S8 -600 8,0 60 5
1117 3N W =SQ -600 8,0 6,0 3
16 9 3N W =SQ -600 8,0 6,0 12
343N W+1S7 -630 2,012,0 11
1214 3N W +1S7 -630 2,012,0 16
13 8 3N W+1S5 -630 2,012,0 13
--10 Lepokierros 71 -
Jako: 25 Jak

Pari Sit LK Tulos Pisteet Pa
1314 2Sx W-3CQ 800 14,0 0,0 4
1610 2Sx S =HQ 470 12,0 2,0 13
6 3 3N S+2S5 460 10,0 4,0 17
15 7 3N S+1SA 430 8,0 6,0 15
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9 1H N+1D3 110 10,0 4,0
21N S =54 90 4,0 10,0
16 IN S =H6 90 4,010,0
10 IN S =D9 90 4,0 10,0
13 Pass 0 0,0 14,0

8 Lepokierros 9,3

o0: 22

ri Sit LK Tulos Pisteet

1 1IN S+2D4 150 13,0 1,0
17 IN S+2D4 150 13,0 1,0
3 1IN S+1D4 120 7,0 7,0
16 1IN S+1D9 120 7,0 7,0
11 IN S+1D9 120 7,0 7,0
5 1IN S+1D4 120 7,0 7,0
6 2D S =CA 90 2,012,0
7 2S E =HK -110 0,0 14,0
9 Lepokierros 8,0

0. 24

ri Sit LK Tulos Pisteet

7 1H S+2CA 140 14,0 0,0
6 2N E-2C5 100 12,0 2,0
2 IN W-1H9 50 10,0 4,0
4 2H N-1DQ -50 7,0 7,0
14 2H S-1H6 -50 7,0 7,0
17 1IN W +1 S8 -120 4,010,0
9 2C S-3H7 -150 2,012,0
8 1Nx W +1 S5 -280 0,0 14,0
10 Lepokierros 7,1

0: 26

ri Sit LK Tulos Pisteet
56C S =DK 1370 14,0 0,0

14 5Cx S =H5 750 12,0 2,0
12 5C S+1H10 620 10,0 4,0
7 4Hx E -2 DA 500 8,0 6,0

193N N=H6 400 5090 6 3 3C N+3HK 170 6,0 8,0
1712 3N S =HQ 400 5090 1 9 3H E-1S2 100 3,011,0
2 84H E-2DA 200 2,012,0 16 10 3H W-1SA 100 3,011,0
453C N-1S3 -50 00140 2 8 3S N-1C9 -100 0,0 14,0
--11 Lepokierros 81 -- 11 Lepokierros 8,1
Jakotaulut

10.2.2014 21:12



